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= Year 7/8      = CHANCE & DATA      = Worksheet 1
	1. What are the possible outcomes when a fair die is rolled once? Are they equally likely outcomes?

	2. When a fair die is rolled once, what is (a)
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	3. What are the possible outcomes when two coins are tossed together? Are they equally likely outcomes?


	4. When two coins are tossed together, what is (a)
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	5. A coin is tossed and a fair die is rolled. Draw a tree diagram to show all the possible outcomes.


	6. When a coin is tossed and a fair die is rolled, what is
(a)
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	7. When a drawing pin is tossed 500 times, it lands pointing up 225 times. Estimate the probability that it lands pointing up in the next toss.

	8. There are only two possible outcomes in Q7. Are they equally likely outcomes? Why?

	9. Design a spinner that gives the probabilities 0.125, 0.25 and 0.5.

	10. Design a spinner to simulate the tossing of the drawing pin in Q7.



	11. In tossing two drawing pins (identical to the one in Q7), there are four possible outcomes. Will the probability of both landing point up be higher or lower than 
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	Numerical, algebraic and worded answers.
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1.  Occurrence of 1, 2, 3, 4, 5 or 6.


     Yes.


2.  (a) 1/6  (b) 2/6 or 1/3  (c) 0


3.  Occurrence of HH, HT, TH or


     TT.  Yes.


4.  (a) 2/4 or 1/2  (b) 3/4  (c) 1/4 


6.  (a) 1/12  (b) 6/12 or 1/2 


     (c) 2/12 or 1/6


7.  225/500 or 9/20


8.  No, because point-up occurs 


     less often  than point-down


9.  45o, 90o, 180o


10.  162o, 198o


11.  Lower. 


       Since Pr(point-up) < 1/2, 


       the  outcome of both landing 


       point up is less likely than the 


       other three outcomes.











( Copyright itute.com 2005     Free download & print from www.itute.com      Do not reproduce by other means without permission

_1196960332.unknown

_1196960811.unknown

_1197352426.unknown

_1197352461.unknown

_1196961285.unknown

_1196963043.unknown

_1196960728.unknown

_1196960759.unknown

_1196960360.unknown

_1196960193.unknown

_1196960224.unknown

_1196960183.unknown

_1190525117.bin

